?i%mﬁ?%mﬁgg
-

2w p 101 £ 6 *

(?mg&a )

5 = P LA PR M

L BT B R EF 2R RR FEIRGE | AR Ffe i 47 &
WA 2§y FER G &
(-)% 36 ix ¥ (- )% 3" SRR ERE o
(-)% 3738 k% ()T g, g 3B HHET R B

S gAY A AT R ENAE Y I (B F 13 B

dp T F AT

LR L s

Ji

(“)f‘?%-ﬁ%?z‘?’g P SETIE L LN (- R AL B

( )#EMT‘II-’- i+ -fif'}s;}’jri%}%’ qﬁ’fﬁDA#\ilﬁ‘g(ul .
: F%Wf CERSEEREERE) B
£

o \‘—‘”\ziﬁgPﬁngF M E
%

BE‘/}J 3}\!7

T | ATE R

PRI EF 6B

Iq

SEEFHAANEALAT B ¥ AT

EEEFALLAEE A R R

o [ETERE R R g

§0 %

C | ERAERFF LR

FE 1R

N ERE T PR >20%

BERHE 3B

FoRREREET
FHAZ %Y

RS Y2
A o




=N\ %’3%—?1}? g{P‘

JE =X WP LH &7 1E IE & #;i Fo >
— [FmEa g mEs R FOT (5) FA <~)10104%%*%%@—%%*%&# PETTEEY
= [2,214,053 2] (=) %3:)%(4 e FUATERNERS L ER L RERBRBT Y IR I N e
(Z) B~ mye2 FRHFTRD L HHE (ALVA2A3 ] g oty LI il o
A5~A6~-A7-B1-B6-B7-B8-B9-BZ-~C4-~D1 - BN

D2-D4~HN) # 5] » 33+ o

gL £ F>20%

EAMFRG 60 48 (V) 2 FRET

(=) 10104 F 4 § * Bdc=" rudc+30a f # -
(=) Fagr +&5=(10104 ¥ § * 24—10004 ¥ % ¥
* Bgc) /10004 F o § v Bk o

(Z) FAE ¢ o i 2 F 52 p%kia g » 31

(z) @ipeh - B782 FRTHR? LF F 52 (A1-A2-A3-
A5-A6-A7-B1-B6-B7-B8-B9-BZ-C4-D1-
D2~D4~HN) 7 5] » %zt o

= FERFRFET>60 §0 ) 2pg g > (- ) 10104 Fhy ﬂ‘pﬁﬁ::vﬂ FELE A |
15 580 2 L% B & F>20% (=) 2%+ £ F=(10104 2 R 23— 10004 # 5 B350)/

10004 % 5 85 -

= PO ! Y 2, R

() FRpr e Lrﬁi:ﬁ@ FRi okt h .

(z) 3 fé‘%ﬁ(z’“ﬁ? Ft 2 WS W AT T o

() B~y FRFTR? O %HE (ALVA2-A3
A5-~A6~A7-B1-B6-B7-B8-B9-BZ-C4-D1-
D2-~D4~HN) # 7] » 3t o

PETLHZBE R
ﬁ#%ﬁﬁ?ﬁ

’ricgn Z_

BpA 7N

BEE A o

v‘v

p




. %

N B LA & 1 1F 14k 5N

o (FEYRFR G (BB | (- ) 10104 FEFRF =0 GhEc It 3 -
%

#98(#)7F 4 = [1,316,805 2] (=) FhRpr ol 2 FR 2 BERLT Y -
S) PR ARRESTI NG 18
(2) R~ BPRE FRT AT LB HHE (A1-A2-A3
A5-A6~A7-B1-B6-B7-B8-B9-BZC4-D1 -
D2-~D4~HN) % 7 » 53+ o
;}r‘ﬁﬁ'ﬁf?ﬁ &3k 229

1. F4#RpH 101 £ 61 28 p
%100 & % 4=t £ F € 3kilk,p 100 & 12 7 (3 % & 2 )de > B EAam(5) FR AN A R (#gxlgf:,';, TR _ﬁ%’gﬁ%:}%% ¥ L #ic® St e
FOTHE A~ 1) FRéEWES R REFHELEF 4 -



